YHUBEP3UTET Y HUIy HIHDPA:

DPUITO030PCKU PAKYJITET

(nonyraea komucuja)

bPOJ IIOEHA:
JIEMAPTMAH 3A AHTJIMCTUKY

(nonymasa komucuja)

KIACUOUKAIIUOHU UCIINT

JvH, 20109.
BPEME MU3PAJIE: 120 MUHYTA
MAKCHMAJIAH BPOJ ITOEHA : 60

YIIYTCTBA 3A KAHIAUJIATE
e Ha 3HaK MIaBHOT JEKYPHOT M3BAIUTE HEAyJby (MICHTH(HUKAIMOHY KapTHIy) KOja c€ HaJla3u y KOBEPTH,
MIOITyHUTE je TPaKEHUM JIMYHHUM II0/IaIllIMa, BPaTUTE [enyJby y KOBEPTY H 00aBE3HO 3aJICTIUTE KOBEPTY.
BAXHO!!!
HA CAMOJ KOBEPTHU HE CMETE HULITA IUCATU. HA UICITUTHOM TECTY U MAPTUHAMA HE
CMETE HAITIUCATHU HU CBOJE UME, HUTHU HEKY HIN®PY, HUTU BUJIO KAKBE JIPYI'E O3HAKE.
HUCIIMTHU TECTOBHU KOJU BYAY HA BWJIO KOJU HAUYUUH O3HAYEHU BHWRE OJMAX
AUCKBAJIM®PUKOBAHMU, BE3 IPETJIEJAIBA.
Hcnutau TectoBr Onhe mudpupaHn HAKOH IITO CBH KaHAWATH HAITYCTE MECTO TOJIaramka UCIIHTA.

e  VYKOJHMKO TO HUCTE Beh yIMHUIH, CBOje JTMYHE CTBAapH (Topbe, (aciukiie, jakHe...) OJUI0KUTE Ha KaTelpy UK
yuBniIyk. He 3a0opaBuTe Ja MCK/bY4YMTe W OMJIOKMTe MOOWJHe TesdedoHe Kao M OMI0 Koje apyre
eJIeKTPoHCKe ypehaje, koju He cMejy cTajaTH Ha KJynamMa, HUTH ucnoa wux. Ha xirymama Mory na Oyny
CaMo MCIIUTHH TECTOBH U OJIOBKE, COK HJIM BOJIa, Ka0 U JINYHA KapTa/lacoul ¥ HOTBp/ia O pHjeMy JOKyMeHaTa
(yiuctuh ca meyaToMm W yMUCaHUM MPUjEMHUM OpojeMm).

e [logecuTe CBOj YaCOBHUK TaKO J1a C€ BpeMe CIIake ca OHUM Ha YaCOBHUKY NEXXypHHX. V3pana 3amaTaka He cMe
aa Tpaje nyxe o1 120 MuHyTa. YKOJIHMKO TECT 3aBpIIUTE MPE UCTEKa OBOI POKA, MOXKETE Jla HaIlyCTUTE
am¢uTearap / yaMoHUILy. Y TOM CIy4a]y, OKPEHUTE TECT Ha JINIIC U OCTABHUTE Ta HA KJIYIIH.

e 3a um3pamy 3amaraka MopaTe Ja KOPHCTHTE NJaBy XeMHjcKy o0J0BKy. Hujenan oaroBop HamucaH
rpa¢uTHOM 0JIOBKOM WJIM OJIOBKOM Yy 00ju Koja Huje miaBa Hehe Outu mpusnat! AKo HeMare IJIaBy
XEMH]jCKY OJIOBKY, IOTPAKHTE j€ O] NIEKYPHUX.

e  OKpeHHUTE APYTY CTPAHHILy TECTA TeK Ka/la AeKyPHU o0jaBe 1a MOYMI-€ 3BAHHYHO BpeMe U3paje TecTa.

e VY mpBom geny Tecta (PART A) CAMO 3AOKPYKUTE jenan on nonyhenux oaroeopa — HE TPEBA
YIHCHBATH pelierba H y TEKCT HJIM PeYeHUIy.

e VYV apyrom neny tecta (PART B) TPEBA ynucuBaTu pememna y TEKCT HJIH PeYeHUILy.

o ITAYK/BUBO IMPOYUTAJTE YIIYTCTBA nata Ha modeTky CBakor off BexOama, U Mpe Hero ITO ce
OJITy4YHTE 32 jeHO o]l MoHYheHuX pelerma, win ynuiiere cBoje pememne — [IAZK/bUBO ITPOUYUTAJTE
HEJHU TEKCT WIU PEYEHULY U JOBPO PASMUCJIUTE.

e  VYxomuko cre Beh 3a0KpyXWIIH MITH YIHCAIH jeHO PEIIChe, 1A Ce IMPEIOMUCIUTE U KEITUTE J]a 320KPYKUTE
WIH YIUIIETe HEKO TO peLeH-e, TO Mopa OUTH ypal)eHO Tako Jia ce HeABOCMUCJIEHQ BUIN KQJ& pe e
Baxxu. Ha mpumep, @ b @ d, win yak, yKOIHMKO Ce TIOHOBO MPEIOMHUCIIUTE, @ b @ @
Ynotpeba KOPEeKTOpa 3a XeMH]CKY OJIOBKY HHj€ J03BOJbEHA.

e Monumo oOpatuTe Naxmy 1a Ha TecTy Tpeba gaatu CAMO JEJIHY Baxehy Bep3ujy oarosopa — Hehe ce
MPU3HABATH OATOBOPH Ca BUIIIE OCTABJbEHUX AITEPHATHBHUX perema!l Baxehe pememe MoxkeTe 1a 03HAUUTE
U CTPEJIMIIOM TIOpeN KOje MUIIIE ,,0B0 BAKH*.

e OmroBopn Koju y ceOu cajpike OWIO KakBy rpemiky y mmcamy peun (spelling) m mmcy y ckmamy ca
rpaMaTHYKUM PEIIOM PEUH SHIVIECKe pedeHuIle Hehe OUTH MPU3HATH — 3aTO IPOBEPHTE A JTK CY Ballla pellemha
UCIMCaHa Ta4Ho, jacHo 1 YU TKO.

e Tecr uma ykynHo 11 cTpana — oOpaTuTe Maxmsmy Aa HEKY Off CTpaHa TPEeIIKoM He IpecKounTe!

e VY TOKY M3PAJE TECTA HUKAKBA KOMYHUKAIIUJA KAHIAUJATA CA BIWJIO KUM HA
BUJIO KOJU HAYWH HERE BUTHU TOJEPUCAHA. U cim nokymaj npenucuBama U ynorpeode
eJieKTpoHcKuX ypehaja 6mio koje Bpcre kasumhe ce TPEHYTHUM YIAJ/BEIBLEM CA UCIIMTA U
JAUCKBAJITU®UKALIUIOM.

e Toxom uspaje TecTa, He MOKeTe TPRKUTH MOMON 1K objanimerba o1 qexypHuX. CBe IITO KeIUTe Ja IUTaTe
Mopare MUTATH Mpe HEero ITo ce 00jaBH MOYETaK M3PaJe TeCTa U NPe HeTO BUANUTE CAM TeCT.

e OBux ymyTCTaBa, Kao W YIYTCTaBa 3a PEIIaBamk-e CBAKOT BexkOama Tpeda ce JOCIOBHO MPUIP KaBaTH.

GOOD LUCK!




PART A - MULTIPLE CHOICE TASKS

For each numbered gap choose ONE of the four offered answers to make the sentence both
grammatically correct and logical. JUST CIRCLE A, B, C or D. The sign O offered as an
option in some sentences means that no word or word group is missing. DO NOT fill in the
numbered gaps. The first one (0) has been done for you.

15 pts

Photographic (0)  suggests that liquid water once (1) in great quantity on the
surface of Mars. Two types of flow features are seen: runoff channels and
outflow channels. Runoff channels (2)  in the southern highlands. These flow features are
extensive systems — sometimes hundreds of kilometres in total (3)  of twisting channels that
seem to merge into (4)  channels. They (5)  astrongresemblance (6)  river systems
on Earth, and geologists think that they are dried-up beds of rivers that once carried rainfall from the
mountains. Runoff channels on Mars speak of a time 4 billion years (7) _ when the atmosphere
(8) __ thicker, the surface warmer, and liquid water (9)

Outflow channels are relics of (10)  flooding on Mars long ago. They appear only in
equatorial regions and do not form extensive interconnected networks. (11) _ they are probably
the paths taken by huge (12)  draining from the southern highlands into the northern plains.
The onrushing water (13)  arising from these flash floods also formed the odd teardrop-shaped
“islands”. (14) _ from the width and depth of the channels, the flow rates (15)  enormous
— perhaps as much as a hundred times greater than the 105 (16)  per second carried by (17)

Amazon river. Flooding shaped the outflow channels approximately 3 billion years ago, about
(18) _ the northern volcanic plains formed.

Some scientists (19)  that Mars may have enjoyed an early period during which rivers,
lakes, and perhaps oceans adorned its surface. A 2003 image shows (20)  mission specialists
think may beadelta—a(21) _ network of channels where ariver once (22)  alarger body
of water. Other researchers go even further, (23)  that the data provide evidence for open

expanses of water on the early (24)

More recent data imply that at least some parts of the planet (25) experienced long
periods during which liquid water (26) on the surface. (27) some small-scale gullies
found since 2000, which are (28) , astronomers have no direct evidence for liquid water

anywhere on the surface of Mars. Yet even setting aside the unproven hints of ancient oceans, the
extent of the outflow channels suggests that water existed on Mars in the past. Still, no one knows
where (29) . The answer may be that (30) all the water on Mars is now locked in the

permafrost layer under the surface.



0o |A) facts Vidence C) evidences D) sign

1. |A) existed B) survived C) has existed D) was existing

2. |A) have found B) have been found C) were found D) were founded
3. |A) extent B) distance C) measurement D) length

4. |A) wider B) more wide C) the wider D) the wide

5. |A) conduct B) bear C) offer D) bring

6. |A)among B) in C) with D) to

7. |A)ago B) before C) since D) previously

8. |A) would be B) was C) had been D) would have been
9. |A) widespread B) all-round C) distributed D) far-reaching
10. |A) catastrophic B) catastrophically C) catastrophe D) catastrophical
11. |A) Instead, B) On the other hand, C) But, D) As well,

12. |A) measures of water |B) volumes of water C) dimensions of water  |D) cubicles of water
13. |A) that B) is o D) was

14. |A) Telling B) To judge C) Concluding D) Judging

15. |A) ought have been B) had to be C) must have been D) can be

16. |A) tones B) tonnes C) tone D) tons

17. |1A) O B) the C) an D) great

18. |A) the same time as B) in the same time C) time D) as long as

19. |A) explore B) research C) speculate D) study

20. |A) O B) what C) which D) that

21. |A) fan-made B) fan-formed C) fen-shaped D) fan-shaped

22. |A) flowed into B) flew into C) flown into D) was flown into
23. |A) suggested B) suggesting C) to suggest D) as suggesting
24. |A) martian surface B) Marsian surface C) Martian surface D) marsian surface
25. |A) possiblly B) posiblly C) possibly D) posibly

26. |A) has existed B) had been existing C) had existed D) existed

27. |A) Beside B) Along C) Beyond D) Aside from

28. |A) indefinite B) undefinite C) definiteless D) undefined

29. |A) all the water did go |B) all the water went C) did all the water go D) had all the water gone
30. |A) totally B) utterly C) virtually D) implicitly




For each set of gaps choose ONE of the offered answers to make the sentence both
grammatically correct and logical. JUST CIRCLE A, B, C or D. The sign O offered as an
option in some sentences means that no word or word group is missing. DO NOT fill in the
gaps. The first one (0) has been done for you.

0)I many letters

15 pts

A) didn’t write / so far

@have not written / so far

B) have been writing / that far

D) have not writen / as far

1. United Kingdom consists of a group of islands the northwest coast of Europe.
A) The / of C) @/ from
B) @/ off D) The / off

2. The Highlands offer habitat that is relatively by humans.

A) Scottish / untouched

C) Scottish / intouched

B) Scot / untouched

D) Scots’ / intouched

3. The island of Britain is separated from northern France by

A) O / the / the English Canal C) @/ the / the English Channel

B) 0/ @ / the Suez Canal D) @ / @/ the English Channel
4. is the London residence and administrative headquarters of the current monarch and head
of state -

A) Buckingham Palace / Queen Elizabeth 11

C) Buckingham Palace / Queen Elizabeth I

B) Backingham Palace / Prince Charles

D) Backingham Palace / Queen Elizabeth II

5. The USA is a federal

comprising fifty states and the Federal

of Columbia.

A) monarchy / County C) democracy / District

B) republic / District D) democracy / County
6. The animal of the U.S. is the Eagle.

A) domestic / White C) national / Bald

B) public / Sea D) state / Wild

7. The teacher’s explanation was and

students didn’t understand it.

A) confusing / the most of the

C) confused / the most of

B) confused / most of the

D) confusing / most of the




8. There was a long of people the bus stop.
A) line / in C) row / on
B) queue / at D) line / on

9. Their daughter was born September the 16 four-thirty.
A)in/at/ at C)on/on/at
B)in/on/ at D)in/on/in
10. Astheday | the graduate became more and more excited about the ceremony.

A) continued / forcoming

C) wore off / upcoming

B) went on / incoming

D) lasted / coming

11. Unless Frank the course, he

this year.

A) failed to complete / will not graduate

C) failed in completing / will not be graduating

B) did not fail to complete / will graduate

D) failed to complete / will be graduating

12. Edward Jenner’s

of the smallpox vaccine literally

the course of medicine.

A) discovery / altered

C) invention / converted

B) breakthrough / transformed

D) creation / disguised

13. If I

a little more updated about this type of movie, I would have recognized what he

A) was / is saying

C) had been / was saying

B) had been / has said

D) were / has been saying

14. She asked the man sitting opposite he'd mind if she the window.
A) O / opened C) if / opens
B) whether / opened D) if / would have opened

15. There was good reason _ thatshe  the country.

A) to suppose / had left

C) for supposing / has left

B) in supposing / has left

D) for suposing / had left

16. Richards was obviously disappointed

of team.

A) to be left out / O

C) at being left out / the

B) being left out/ the

D) for being left out / @




17. He had a good memory for faces, and he was sure he

her

A) didn’t see / ago

C) hadn’t seen / never

B) hasn’t seen / before

D) hadn’t seen / before

18. If she to follow rules about car safety, she

allowed to use the car.

A) denies / will not be

C) refuses / will not be

B) refuses / will not have

D) refused / would not have

19. Marsha the triplets in the playpen and then went to down because she had an
intense headache.
A) lay / lain C) lain / lie
B) lied / lay D) laid / lie
20. The children that the adults don’t seem to think very of them.
A) fear / highly C) afraid of / higher
B) fear of/ highly D) fear at / high
21. Dana the night shift by the time you in the morning.

A) will not have finished / get up

C) will not be finishing / got up

B) will not finish / would get up

D) will not have finished / will get up

22. Jack’s new manager

many problems to solve since he

six months ago.

A) had / has taken over C) has / took over
B) has had / had taken over D) has had / took over
23. This handbook offers advice blogging anonymously.
A) an/ for C)an/on
B) @/ on D)@ /in
24. 1 found a huge nest is I assume was the magpie house.
A) which / what C) what / that
B) which / that D) that / which
25. She wouldn’t still for us if we her a pay-rise.

A) be working / hadn’t given

C) work / haven’t given

B) be working / didn’t give

D) have been working / didn’t give




26. Not only the largest city, it is also the capital of country.

A) Mexico City is / the C) Mexico City is / @
B) is Mexico City/ the D) is Mexico City / a
27. There is an expectation that there a reduction staff numbers in the US.
A) would be / at C)will be / in
B) is going to be / for D) will happen / at
28. He listen to us reading our essays aloud, but rarely ifever  on them.
A) could / comments C) would / commented
B) would / has comented D) could/ would coment
29. I remember how this conclusion
A) to think / was drawn C) thinking / had been brought
B) to think / had been brought D) thinking / had been drawn
30. Hardly ~ theletter  she started crying.
A) had Jane read / when C) Jane had read / when
B) did Jane read / then D) had Jane read / than

PLEASE MOVE ON TO THE NEXT PAGE




PART B — FILL-IN TASKS

Fill in the blanks with APPROPRIATE VERB FORMS, finite or modal, active or passive, of the
verbs in brackets. Pay attention to word order and spelling. It is not possible to add any
other word (e.g. pronoun, noun, etc.), apart from those already given in brackets. The first
one (0) has been done for you.

13 pts
It (0) was February 20, 1970. At that time, the Soviet authorities
1) (decide) on a name for the new power plant that would soon make

the USSR’s nuclear engineering famous across the globe. They (2)

(already, consider) a few options, but finally, a decree was signed confirming that the station
3 (MODAL, take) the name of the regional capital, Chernobyl.

Viktor Brukhanov (4) (arrive) in Chernobyl a few months

earlier, before the decree was signed. Although now the director of Chernobyl, Brukhanov

(5) (know) little about nuclear power. Namely, back at the Polytechnic
Institute he (6) (study) electrical engineering. No sooner
(7) (he, complete) his studies, than he (8)

(quickly, rise) from lowly jobs in an Uzbek hydroelectric power plant to overseeing the launch of
Ukraine’s largest coal-fired station. But at the Ministry of Energy in Moscow, knowledge and

experience (9) (regard) as less important qualifications for top

management than loyalty and an ability to get things done.

By the spring of 1986, Chernobyl (10) (become) one of the best-
performing nuclear stations in the USSR. The word was that Brukhanov’s loyalty to the Party
(11) (soon, MODAL, award). The plant’s staff was due to receive a
financial bonus, and Brukhanov (12) (MODAL, give) the star of the
Hero of Socialist Labor. However, in the night of April 26, 1986, Brukhanov and his wife
(13) (wake) by the telephone. His wife watched the color drain from his
face as he listened in silence to what he (14) (tell). He put down the

receiver and silently slipped out into the night.
When the director reached the plant, he saw that Unit Four was lit from within by a dim red

glow. It wasn’t long before he (15) (take) the first damage reports: there

(16) (be) an explosion in Unit Four, but they were attempting to supply

cooling water to it. Brukhanov feared they would encounter the most terrifying catastrophe
imaginable: the reactor running dry of water. Nobody suggested to him that the reactor

a7 (already, destroy). In its place was a volcano of a radioactive blaze

that would prove all but impossible to extinguish.



At present, Chernobyl (18) (remain) the worst disaster in the

history of nuclear power that (19) (ever, witness). Also, it
(20) (become, now) an unfortunate inspiration for the new HBO series
that vividly (21) (portray) the events leading up to the disaster. By the

end of August 2019, all five episodes of the TV series (22)

(MODAL, air). Viewers will be shocked by the depiction of the immediate panicked aftermath, and
the months of crisis and confusion during which the concrete-and-steel sarcophagus that entombed

the reactor’s lethal remains (23) (build).

(24) (know, Brukhanov) what a disaster his achievement (25)
(MODAL, cause), he probably (26)
(never, MODAL, accept) the job in the first place.

IV Adapt the form of the words in brackets to the context so that you get a grammatical and
meaningful text. All the words in brackets have to be adapted to a new form and spelt
correctly. DO NOT use the —ING or —ED form. The first one (0) has been done for you.

5 pts

In his latest book, A. K. Benjamin, a British clinical neuropsychologist, shows us how
) fully (FULL) he is able to attend to his patients precisely because of his humanity,

particularly his past. He weaves together the stories of his patients’ unraveling minds with his own

history of mental illness. Portraits of patients suffering from (1)

(TRAUMA) brain injury or dementia open up to reveal larger aspects of clinical practice, the brain
and the kind of (2) (FLEXIBLE) Benjamin believes his profession requires.

His interest isn’t merely in describing this empathy but evoking it, slightly
3) (COERCE), from the reader.

Benjamin’s narrative creeps along the borders of his case studies. His patients’ suffering
recalls his own. He is moved by their resemblance to his family members; for example, an older
woman suffering from dementia reminds him of his mother. Still, there is a conventional insistence
that the personal not contaminate the professional in the (4) (THERAPY)

relationship. Finally, certain sections of the book are inevitably difficult to follow. For instance, there

is a garbled chapter on a (5) (DISASTER) marriage. He alludes to threats,

violent fights, but it is murky, and in a self-serving way.

PLEASE MOVE ON TO THE NEXT PAGE




V  Fill in the blanks in the following text using ARTICLES (A, AN, THE, or zero article - @).
DO NOT leave an empty space with no article. If you think that there is no need for an
article, please write down the symbol ‘@’. The first one (0) has been done for you.

7 pts

There is (0) _©@ evidence of agriculture in Africa prior to 3000 B.C. It may have developed
independently, but many scholars believe that (1) spread of agriculture and iron
throughout Africa linked it to (2) Near East and Mediterranean world. The drying up of what
is now (3) Sahara Desert had pushed many people into (4) sub-Saharan Africa.

These people settled at first in scattered hunting bands. In some places near lakes and rivers, people

who fished, with (5) more secure food supply, lived in larger population concentrations.

Once the idea of planting diffused, (6) Africans began to develop their own crops, and they

demonstrated a continued receptiveness to new imports.

Today, (7) picture is dramatically changing as agriculture forms (8)
significant portion of the economies of all African countries. As (9) unique and important
sector it can contribute towards major continental priorities, such as eradicating (10) poverty
and hunger. Such (11) development projects, however, require (12) updated

analysis of land, labor, and total productivity trends in African agriculture. The good news is that
agricultural productivity in Africa has been increasing at (13) moderate rate, although there
are variations in the rate of growth depending on country and region. By 2050 Africa will have a
population of two billion people. This prediction alone summarises the scale of its agricultural
challenges. Therefore, a clear continental vision for (14) next thirty years is necessary, which

would serve as a guide on this critical African sector.

PLEASE MOVE ON TO THE NEXT PAGE

10



VI  Make questions for the underlined words. Make sure your question includes the information
which is not underlined. Pay attention to word order and spelling. Do not change sentences
in any way, e.g. by adding new information, words, or by changing the tense forms. The
question should relate PRECISELY to the underlined parts of a particular sentence.

5 pts

[ Example: Jack received a bonus from the company. What did Jack receive from the company? ]

1. Oil prices have increased threefold over a five-year period.

?
2. The bread oven can produce 200 loaves every hour.
?
3. The thought of eating meat repels her.
?
4. Bob must have finished paying the mortgage on his house recently.
?
5. The prisoner was believed to have robbed over one hundred banks.
?

THIS IS THE END OF THE TEST
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